UNFKEIZEIER H1500—50xW4000
(BBF5 7 ERENEBEEESL - AMTRICEICAEN GL+0m [2K5)

S=1:30

L—ILigEa >y 1) — FLEX

__ . L50 x 50 X 6

"F—————Huf—a‘l‘f = = = —+ - F— —— —= A {H [ i (FARFFD)

|8 | | [osoxeox2s |l 8

N . N = L - =

- | = = '?J‘LLJ " ] S

| 8 | | / g L50 x 50 x 6 S =

S EEERErH ==:dissas 3 ' == BB E kR (2 Ll 2 %L 16 = -

% WLBBT S &, (BABFA) //
KARERTSH L, VEPEPEN /"
(t=5) fitheE L=
PL6
12.5 WA000 (3%43) P (BRESA)
(HZBIZ1E 3972) ; a
BE A e (FAESFA)
- mhm athm b a~ati AN Ay
DA4XAySa o :
| (1;47——‘/9;‘/35) 3 ! \
! [:1 X N O/ F ST — -

I ey T T T v % N —t — —
a3 i D [ N =
O75x75x3.2 _|||.H e L 8| g I @; ;T R I P 2le

= B N S
l l l l 2 ‘ |_ $50.8x2.3 — ~— =
I L ] sa0
byvavad | | | @50 8x2.3 | T: 560 J L=V L75x40x5 mn am[ ($3.6)
Yvvavdl ‘ S ‘ ‘
=5 \EE i B m S| / (F2h = | % ] -
| | | | [ p— —
7 GL+Om ' RYay 3 | N T =
NN (=3 .
gl il \mLgs GEITHL [160 % 60 x 2. 3 Zkyss—/| € ; 8 F=ohy h7Un—#126A 25 | | 100 | | 25 -
v 114 BEFEGI00 \ L—JLLT5x40x5 (ML) A7 | BT W12 (M, SWff) 150 :
700 (Foh—f) 700 5-D1oBLE ALY (%%
L—IL540x40%x 3
D10L4 £ @250 500
SRR 570 1000
1000
- L—ILEER =] 3 $=1:6 =451 [ 1k B4 $=1:6 MEtsi
P % & PEE{TE N ERfEIFh LE B T e RS 7 SR OREL -
060x60x2.3 ‘ 160 x 60 x 2. 3 ‘ RETSIZEDICRAEAIZIKS,
/ PL4. 5 <sz¢’:< s 9% e B2 10 BORMEHER2 5 LR
: Si : LT 5,
/ i (W2#%, SW) :
42.5 W4000 / ERBEEN - - - REAGFAM A
————'—d—a —————————————— ———— F‘gﬁb* ————— e L == 98 kN./ni (10t./m)
. | / _ _ _ I I 1 _ _ _ _ ,,J\,f,
—t=7 ] L B _ | W N
! Lo | |y | ) = 1. SMEIES - = D EBTHRESIENRERE, U
P e - L0401 Qo @) q HEREGHERMEE TS, BL. FILF
w B BRI 5100 3 1] } BN M12 PLE S| = 401 6 - F v MEARERGO > D LR RNE
= | == i | W2 KDl - L. FE. ELRU—BORLE -+ K
P =X —Z i Kialhdud 14 N ) [EAREND > = DH. L—ILIAEHEILED 1 E
gsl s | w0 o I 7 = '/ 2Y T B,
| 100 175
---------------------------------------------------- =
L—ILC75x40 x5 L—ILC75%40 x5
(7 oh—fh 7 (Foh—1) 570
L—)LZL40x40x3,/ | 510 __

©1000

BT M12

S=1:6

(W2#%, SW, ZeNT )

%L - X by/A—HHHE
W4000
75
PL6

@

BT M12

(W2#%, SW, ZeNT )

=125

241406803

2024. 03




